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General Instructions : :

1. The question paper comprises of two Sections, A and B. You are to attempt both the

sections.

All questlons are compulsory

. All questions of Section-A and all questions of Section-B are to be attempted separately.

. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks quahons 'I‘hese areto be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questzons. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questlons These are to be
answered in about 70 words each,

W

8. Question numbers 25 to 33 in Secho':i-B are multiple choice questmns based on pracIJcai
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skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9, Question numbers 34 to 36 in Section-B are questions based on practlcal skllls Each
question is of two marks. :
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-- WW-3 / SECTION-A ~
. Draw the structural formula of methancic go—
2 mﬁm%%mmmaﬁamﬁ 'm'amﬁm'%;'m%ﬁ—ﬁ#aﬁrﬁﬁﬁ'
e & Ffirrand ot St ot 2
Why is it, that asexual reproduction produces exact copies, but sometimes
Jinor variations are also seen in next progeny ?

Write any two consequences if decomposers are removed from the ecosystem.

Le mmmﬁwﬁﬁwﬁﬁqﬁ&Rmvﬁaﬁaﬂﬁiwaﬁiﬁﬁﬁﬁ?
State how the image position changes in myopia and hypermetropia, as compare to a normal

o ARG R = : _
5 -mm%mﬁ:mmaﬂﬁwﬁ@w@:
Explain the reuse strategy for conservation of environment by giving two examples.

g ﬁﬁmm@aﬁ@wﬁﬁ%mﬁ%ﬂmﬁmﬁaﬁ:

(b)  We use LPG at home which is mainly a mixture of Propane and butane, Give a
balanced chemical equation for combustion of butane.

8 () Pl w1 o s v T 0 9 TR ¥ e o emte adte gy
(i) Qﬁ?lﬁaiawﬁ?ﬁammﬁﬁﬁaﬂ%mmmﬁwmml .
(i) State an example of a dehydtrating agent. Give a chemical reaction to illustrate this

_property, '
() Givea chemical test to distinguish between alcohol and carboxylic acid.

“lE meﬁmmaﬂiwwﬁfﬁmr
- Write the molecular, electronic and structural formulae of ethyne.

10 SYE S WO F T rrge wr wel w2 g W g mm%%&m@i

Where do we find non - metals in the periodic table? Do non - metals lose or gain electrons to
attai nearest inert gas configuration? What is the nature of their oxides?

69 vR 2 & ? T A Ay A e oy
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How is the sex of a newborn individual determined in humans ? How are the sex
chromosomes in human male and female represented ?
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How dqi sﬁecies of two isolated subpopulations become two different species ?
13 TR & BRI WA W T S faf f S v @ Pr-gir gvel d fHaf s a2 3
' () T& v fafy w1 am fafen -
(b) a1 9 o fafy A ¥ stgan i, s afea s ) —
() 0 ge fswan e 6 € § 7 AT ST R giew S
In the process of reproduction as used by Spirogyra, the organism splits itself into small pieces.
(@)  Whatis this process of reproductigp called ?
(b)  Isthis type of reproduction asexual or sexual, answer with reason
(©) Is this process same as regeneration ? Give reason.

14 iy fa HA @ Fas 9rll & wm fafEu ' 8

y I £ - x : : ; iq 3
15 qﬁ%ﬁmmﬁmﬁaﬁqﬁ@@ﬁ qﬁ@m‘ﬂﬁﬁaﬁmaﬂ%%g e
? ;
Rept fopg wapTy AT @ TSR S WOTR WA S § et =
All dead organisms do not leave their fossil records, but in some ascs gheir fossils are forme
How do these (ossil records form a direct evidence of past ha_ppfmmgs ?
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Name the part of the eye where image is formed by the eye lens and mention its structure.
What is the nature of the image formed ? How is this image sent to the brain ?

17 mcmm@%mﬁa#a@mmmmiﬁ%aaﬁmr@m agH AT ATR 2 3
cm%mﬁmﬁﬁuﬁ,mﬁﬁﬁwml

e srqwﬁyamawvﬂ'aq%ﬁrﬁ,ﬁﬁwﬁﬁ?ﬁmﬁ,fmtﬂmwﬁmtwa@mm 3

(a) mﬁmﬂﬁﬁ%@aﬁmaﬁqﬁaﬂammumm

(b) mmﬁmmﬂﬁﬁﬁﬁwﬁ%aﬁéﬂwma

The nature and wild life enthusiasts who do not depend on the forests have considerable say .,
in their management. Initially the conservationist raised their voice for particular animals like
tigers, elephants, rhinoceros, They now recognized the need to preserve biodiversity,

(a) Explain reason for this change of approach of wild life enthusiasts,

(b)  State two values that inspire them for this approach,

19 T WS W aiane fafgw; et 3

FOTE NG C, Li, N, O, B 3Kk Be & WEHIY WSS HUH: 77, 152, 74, 66, 88 3K 111 pm®1

TR Y B & wed wh A s aferd w5 fafiag)
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Define atomic size of an element. :

Atomic radii of some elements like C, Li, N, O, B and Be are 77, 152, 74, 66, 88 and 111 pm

respectively. '

Rearrange them in decreasing order of their atomic radii.

Name the elements which have largest and the smallest size respectively.

Give reason for the change in atomic radius as youmove from left to right in a period.

20 (@) O U et we e ) 5
(b) wm%ﬁﬁ%%hm%%%ﬁﬁ%am%mw
I | TF TF T T 1 Tagar LEEE
(a) What are monohybrid and dihybrid cross ?

(b)  How Mendel proved that tallness is the dominant trait and dwarfness is recessive in a
pea plant ? Explain with the help of a monohybrid cross.

3
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(a) Write the name of the human male reproductive organ that produces sperms and also
secretes a hormone. Name the hormone.

(b)  Why does the thick and spongy lining in female uterus break every month ? Also
name this process.

(<) What is Placenta? Write its function.
mmﬁqﬁﬁgﬁtgﬁﬁﬁmwﬁwmaﬁgmﬁﬁ%: T T TWiHT SR@ H 5
e @ gugRel afs ot @ feet s aifys i gwe g9 @ wfoenfie foar o @ =%

Ffore for et =1 g 5 ST 2eET HH B SIem ? <
A pencil partly immersed in water appears to be bent at water surface, explain it with the help
of a labelled djagram State wheﬁwer the bending of pencil will increase or decrease if water is

SEUTY 1 Bl § 2 Wﬁmmm%gﬁ%ﬁﬁ%maﬁmuﬁﬁﬂmm@ﬁ%? ARG 5

H FEET ¥ ISR
What is a rainbow ? How is it formed. What are the necessary conditions for its formatlon ?
Explain with the help of a diagram.

zcmm%wﬁaﬁmmmq_ﬁ*wmmﬂlsmaﬁqﬁmww%n 5
fafifa whafara =1 =, yﬁmﬁﬁmﬁmlaﬁﬁﬁwﬁﬁnhﬂaﬁawwwm
27 ,

An object of height 2 cm is placed at a distance of 15 cm from a concave mirror of focal Ieng’th '
10 cm. Find the size, nature and position of image formed.

. W-®/SECTION - B -
fereft o1 3 O TrEelt ¥ g9 A forn qen e difeaw eneiEe fausd T g R e wEa 1
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A student took a liquid A in a test tube and added sodium hydroxide solution in it. The

mixture was stirred for some time. Glycerol and solid B are formed after the reaction.
The substances A and B respectively are :

(@)  soap, oil (b)  sugar, soap

(c) oil, saop (d)  vinegar,soap
mﬁwyﬁm%ﬁmiﬁ\ﬁaaﬁmmmmaﬁqaﬁ% 1
@ TEEAW (b)  TE T W

(9 JAToHH @ vaTEEd

During saponification alcohol should be heated :

(@  on direct flame (b))  onindirect flame
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(© in oil bath (d) inwater bafh EESa S =
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' To compare the cleansing capacity of a soap, the best soap is :
(@) bathing soap (b) toilet soap
(0 washing soap (d)  synthetic detergent
28 ﬁﬁqmﬁamuﬁﬁammma&wﬁﬁmqﬂmmﬁ%uﬁq#ﬁwﬁz&wﬂw 1
YT B

; i
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(@ 4¥HL (b) 128

() 8Hm. (d 83dHL
In the following setup of an experiment to determine the focal length of a concave mirror, by
obtaining image of a distant object the correct reading would be :

| e [T e s e g i s g
5 6 7 8 9 10 11 12 13 14 15 16 17 18

3 4
(a) 4 cm (b) 12 cm
() 8cm (d 83cm : o
29 A= fou T o H HiE R e s i g R 2 1
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Which of the rays is drawn wrong in the figure given below :
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T 1 39am foean
(A} 30°45°%60°T&dLcm
(8)  30° 45° 60° A8 cm
(C)  20° 50° 80°GAT10cm
(D) 20°, 50°, 80° A¥l 15 cm

forg BT & g7 UEd ST, qR R
(@ (A (b) (B)
(c) (€ (d) (D)

In an experiment on tracing the path of a ray of light through a rectangular glass slab, four students A,
B, C and D used the following values of angle of incidence and the distance between the feet of the
two pins fixed on the incident ray :

(A) 30° 45°,60° and 1 cm

(8) 30°, 45°, 60° and 8 cm

(8] 20°, 50° 80° and 10 cm

(D) 20°, 50°, 80° and 15 cm

Out of these the best choice is that of student :

(a) (A) (b) (B)
: o 0 S = e
31 ﬁa%ﬁaﬁﬁmﬁmaﬁ%wwaﬁf@amﬁ%mﬁmm%ﬁﬂwm 1
F T FTI T FAE, wEEN T
(@ FIEATH (b) FAQA
() FaadH (d) FEEER

The number of triangular surfaces of a prism with which you do experiment of tracing the
path of light ray through a glass prism is :

(a)  only one. (b)  onlytwo.
_(c) _ onlythree. | (d)  only four. et .

3 weeTd A 9 Ta S & o gae e a9 s g # - T 9 1

(@ THETEH b) P SquE

() TS (d) RO A

Analogy shows that organisms (animals/plants) showing analogy NEVER had :

(@)  similar functions (b)  different origin

(©) _ common ancestors (4 adaptivefeatures . ..
A ol ST e RO e S
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A seed develops from :

(a) Po]len gmin (b) Ovule
© (d)  Embryo.

N 'ﬁﬁqwa&ﬁwiwﬂﬁqnﬁﬁﬁ#maﬁ%mﬂ 7

(b)
(a)

Clear solution
(Water + Acetic acid)

: (b) Howwi[lyoutestﬁleaadmnammofaceucagd?
35 4Re ¥ gy @1 Uh Heit ARG St STy |
Draw a well labelled diagram of budding in yeast.
36 mﬁsﬁﬁaﬁaﬁaﬁaﬂiﬁmwm% am*mmwmwmu

When an ob]ect is placed at F; of a convex lens complete the ray diagram after refractions.

et \
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